(C address) {
tag = ( ) C (address & ) >>> 8);
slot = ( ) C (address & ) >>> 4);
offset = ( ) (address & N

( tag == .node[slot].getTag( ) {

.node[slot].getValid() ) {
.out.printf(
.node[slot].getDataCoffset) );

.dataCaddress);
.out.printf(
.node[slot].getDataCoffset) );

C! .node[slot].getValid() ) {

.dataCaddress);
.out.printf(
.node[slot].getDataCoffset) );

.dataCaddress);
.out.printf(
.node[slot].getDataCoffset) );

O {
s = 0; s < MAIN_MEMORY; s++) {

.memory[s] = ( PHER s

b = 0; b < SIZE; b++) {
.node[b] = temp(b);

(C address) {
tag = ( ) C (address & ) >>> 8 );
slot = ( ) C (address & ) >>> 4 );
start = ( ) (address & s
last C ) (start + SIZE); value = 0;
= start; i < last; i++ ) {
.node[slot].setData( value++, .memory[i] D;

i

.node[slot].setTag(tag);
.node[slot].setValid( D;




